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o AMMy RWAG, F—34y K358 #4E (sentential logic, propositional logic) 48

A, Ay B IE (predicate logic, first-order logic) 48 MZX.%4,

o FATIEMENGFRARRM FE LI :(a) ‘A ‘and’; (b) V’: ‘or’; (c) O’ “If ..., then
w5 (d) 20 fnot’ (e) V(A EIR): for all’; (f) ‘D (HAEIE): ‘there is’s

o EUIKANE, IRT A AAETRS B 0 BAR A 45 (gL R, 3632 WRATAR N 60 840
R (R0 & B AT — AT, BAH Bk,

B— iy 5B

1. AT IINAE T U35 6) 803 A5 4 4R 4935 47, 3 FIBE 291 & JRT354) (atomic sentence)
FTR A 89 F L3547 (10/100),

(a) K=, FO PEEZAT, 2V —AEHRITE,
(b) REFeF@RMATF | —A GBS, — ARG H 4,
2. AIREAEA (truth-table) FIR T 7Ih% 2 T AA K (valid) 33 (10/100).
(PDQ)/..(~PDQ)
3. FVRI3E o) 470935 AR, B A T 69 452 39 (15/100),
(PO Q)A(=RDS)A=(PVR)D(QAS)
4. A FI3E 6) M 569 E IR, DAL T 338 (15/100),
(=P2Q),(P>(=QDR))/..(QVR)

5o =Bty S
5. AURVAT S 6G 3L R I RESEAR T 5] 18 P S35 4) 803 ALK 31984935 4 (10/100),
(a: 5k =; P: ___ BIKEMEIR, Q __&%4)
() 25 A RESE BRI,
(b) k=R f—ERBERGF 4,
6. FEYIAT bz A MG (T A RAETIRE 869 7 % )(10/100),
(F2)(Pz > Qz), (Jy)Py / . (32)Q=
7. AR 3] 4 S AR RN AT 0934T 2 (15/100),
((Fz)Pz > ~(32)Q2) > (Yy)((3z) Pz > ~Qy)
8. A )it 321 45 69 SE B AR R WA T 3438 (15/100),
(Vz)(Pz > (@z D Rz)), (3y)(Qu > (Ry D 8y)) / .. (V2)Pz > (3y)(Qy D Sy)




